KYUNGPOOK Math. J. 49(2009), 751-761

## Some Properties of Harmonic Functions Defined by Convolution

KAUSHAL KISHOR DIXIT\* AND SAURABH PORWAL

Department of Mathematics, Janta College, Bakewar, Etawah-206124 (U.P.) India e-mail: kk.dixit@rediffmail.com and saurabh.840@rediffmail.com

ABSTRACT. In this paper, we introduce and study a comprehensive family of harmonic univalent functions which contains various well-known classes of harmonic univalent functions as well as many new ones. Also, we improve some results obtained by Frasin [3] and obtain coefficient bounds, distortion bounds and extreme points, convolution conditions and convex combination are also determined for functions in this family. It is worth mentioning that many of our results are either extensions or new approaches to those corresponding previously known results.

### 1. Introduction

A continuous complex-valued function f = u + iv is said to be harmonic in a simply connected domain D if both u and v are real harmonic in D. In any simply connected domain we can write  $f = h + \overline{g}$ , where h and g are analytic in D. We call h the analytic part and g the co-analytic part of f. A necessary and sufficient condition for f to be locally univalent and sense-preserving in D is that  $|h'(z)| > |g'(z)|, z \in D$ . See Clunie and Sheil-Small [2].

Let  $S'_H$  denote the class of functions  $f = h + \overline{g}$  that are harmonic univalent and sense-preserving in the unit disk  $U = \{z : |z| < 1\}$  for which  $f(0) = f_z(0) - 1 = 0$ . Then for  $f = h + \overline{g} \in S_H$  we may express the analytic functions h and g as

(1.1) 
$$h(z) = z + \sum_{n=2}^{\infty} a_n z^n, g(z) = \sum_{n=1}^{\infty} b_n z^n, |b_1| < 1.$$

Note that  $S_H$  reduces to class S of normalized analytic univalent functions if the co-analytic part of its member is zero. In fact Clunie and Sheil-Small [2] investigated the class  $S_H$ .

Recently, Frasin [3] defined the class  $S_H(\phi, \psi; \alpha)$  the subclass of  $S_H$  consisting of functions  $f = h + \overline{g} \in S_H$  that satisfy the condition

(1.2) 
$$Re\left\{\frac{h(z)*\phi(z)-\overline{g(z)}*\psi(z)}{h(z)+\overline{g(z)}}\right\} > \alpha,$$

\* Corresponding author.

Received February 1, 2009; revised May 20, 2009; accepted June 3, 2009. 2000 Mathematics Subject Classification: 30C45, 30C50. Key words and phrases: harmonic, analytic and univalent functions.

<sup>751</sup> 

where  $(0 \leq \alpha < 1)$ ,  $\phi(z) = z + \sum_{n=2}^{\infty} \lambda_n z^n$  and  $\psi(z) = z + \sum_{n=2}^{\infty} \mu_n z^n$  are analytic in U with the conditions  $\lambda_n \geq 0$ ,  $\mu_n \geq 0$ . The operator "\*" stands for the convolution of two power series and  $TS_H(\phi, \psi; \alpha)$  denote the subclass of  $S_H(\phi, \psi; \alpha)$  consisting of functions  $f = h + \overline{g}$  such that h and g are of the form

(1.3) 
$$h(z) = z - \sum_{n=2}^{\infty} |a_n| \, z^n, g(z) = \sum_{n=1}^{\infty} |b_n| \, z^n$$

We let  $S_H(\phi, \psi; \alpha; \lambda)$  denote the subclass of  $S_H$  consisting of functions  $f = h + \overline{g} \in S_H$  that satisfy the condition

(1.4) 
$$Re\left\{\frac{h(z)*\phi(z)-\overline{g(z)*\psi(z)}}{\lambda\left(h(z)*\phi(z)-\overline{g(z)*\psi(z)}\right)+(1-\lambda)\left(h(z)+\overline{g(z)}\right)}\right\} > \alpha,$$

for some  $\alpha$  ( $0 \le \alpha < 1$ ),  $\lambda$  ( $0 \le \lambda < 1$ ) and for all  $z \in U$ .

We further let  $TS_H(\phi, \psi; \alpha; \lambda)$  denote the subclass of  $S_H(\phi, \psi; \alpha; \lambda)$  consisting of functions  $f = h + \overline{g} \in S_H$  such that h and g are of the form (1.3).

We note that by specializing the parameters we obtain the following known subclasses studied by various authors.

- (i)  $S_H(\phi,\psi;\alpha;0) \equiv S_H(\phi,\psi;\alpha)$  and  $TS_H(\phi,\psi;\alpha;0) \equiv TS_H(\phi,\psi;\alpha)$  the subclasses of  $S_H$  studied by Frasin [3].
- (ii)  $TS_H\left(\frac{z}{(1-z)^2}, \frac{z}{(1-z)^2}; \alpha; 0\right) \equiv HS(\alpha)$  the class of sense preserving harmonic univalent functions f which are starlike of order  $\alpha$  in U studied by Jahangiri [4].

(iii) 
$$S_H\left(\frac{z}{(1-z)^2}, \frac{z}{(1-z)^2}; \alpha; \lambda\right) \equiv S_H^*(\lambda, \alpha)$$
 and  
 $TS_H\left(\frac{z}{(1-z)^2}, \frac{z}{(1-z)^2}; \alpha; \lambda\right) \equiv TS_H^*(\lambda, \alpha)$  convex subclass of harmonic  
starlike functions studied by Metin Öztürk et al. [5].

**Remark.** (i) For the harmonic functions f of the form (1.1) with  $b_1 = 0$ , Avci and Zlotkiewicz [1] showed that if  $\sum_{k=2}^{\infty} k \left( |a_k| + |b_k| \right) \le 1$  then f belong to the class HS(0), and Silverman [7] proved that the above coefficient condition is also necessary

if  $f = h + \overline{g}$  has negative coefficients. Later, Silverman and Silvia [8] improved the results of [1], [7] to the case  $b_1$  not necessarily zero.

(ii) For  $g \equiv 0$ , the class  $S_H$  reduces to class of analytic univalent functions S. We note that for  $g \equiv 0$ ,  $S_H(\phi, \psi; \alpha; \lambda) \equiv S(\phi, \alpha; \lambda)$  and  $TS_H(\phi, \psi; \alpha; \lambda) \equiv TS(\phi, \alpha; \lambda)$ .

Noting that by suitable choice of  $\phi$  and  $\lambda$  we obtain the following subclasses studied in literature.

$$TS\left(\frac{z}{(1-z)^2}, \alpha; 0\right) \equiv TS^*(\alpha) \text{ and } TS\left(\frac{z+z^2}{(1-z)^3}, \alpha; 0\right) \equiv TK(\alpha) \text{ studied by Silverman [6].}$$

In this note, we extend the above results to the families  $S_H(\phi,\psi;\alpha;\lambda)$  and  $TS_H(\phi,\psi;\alpha;\lambda)$ . We also obtain extreme points, distortion bounds, convolution conditions and convex combinations for the class  $TS_H(\phi,\psi;\alpha;\lambda)$ . Study of the present note is of special interest because we improve number of Theorems of Frasin [3].

## 2. Main results

We begin with a sufficient coefficient condition for functions in  $S_H(\phi, \psi; \alpha; \lambda)$ .

**Theorem 2.1.** Let the function  $f = h + \overline{g}$  to be so that h and g are given by (1.1). Furthermore, let

(2.1) 
$$\sum_{n=2}^{\infty} \frac{\lambda_n \left(1 - \alpha \lambda\right) - \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|a_n\right| + \sum_{n=1}^{\infty} \frac{\mu_n \left(1 - \alpha \lambda\right) + \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|b_n\right| \le 1,$$

where  $0 \leq \alpha < 1$ ,  $0 \leq \lambda < 1$ ,  $n(1-\alpha) \leq \lambda_n (1-\alpha\lambda) - \alpha (1-\lambda)$  and  $n(1-\alpha) \leq \mu_n (1-\alpha\lambda) + \alpha (1-\lambda)$  for  $n \geq 2$  then f is sense-preserving, harmonic univalent in U and  $f \in S_H(\phi, \psi; \alpha; \lambda)$ .

*Proof.* First we note that f is locally univalent and sense-preserving in U. This is because

$$\begin{aligned} |h'(z)| &\ge 1 - \sum_{n=2}^{\infty} n |a_n| |z|^{n-1} > 1 - \sum_{n=2}^{\infty} n |a_n| \\ &\ge 1 - \sum_{n=2}^{\infty} \frac{\lambda_n \left(1 - \alpha \lambda\right) - \alpha \left(1 - \lambda\right)}{1 - \alpha} |a_n| \ge \sum_{n=1}^{\infty} \frac{\mu_n \left(1 - \alpha \lambda\right) + \alpha \left(1 - \lambda\right)}{1 - \alpha} |b_n| \\ &\ge \sum_{n=1}^{\infty} n |b_n| > \sum_{n=1}^{\infty} n |b_n| \, |z|^{n-1} \ge |g'(z)|. \end{aligned}$$

To show that f is univalent in U, suppose  $z_1, z_2 \in U$  so that  $z_1 \neq z_2$ , then

$$\begin{split} \left| \frac{f(z_1) - f(z_2)}{h(z_1) - h(z_2)} \right| &\geq 1 - \left| \frac{g(z_1) - g(z_2)}{h(z_1) - h(z_2)} \right| \\ &= 1 - \left| \frac{\sum_{n=1}^{\infty} b_n(z_1^n - z_2^n)}{z_1 - z_2 + \sum_{n=2}^{\infty} a_n(z_1^n - z_2^n)} \right| \\ &\geq 1 - \frac{\sum_{n=1}^{\infty} n|b_n|}{1 - \sum_{n=2}^{\infty} n|a_n|} \\ &\geq 1 - \frac{\left(\sum_{n=1}^{\infty} \frac{\mu_n \left(1 - \alpha\lambda\right) + \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|b_n\right|\right)}{1 - \sum_{n=2}^{\infty} \frac{\lambda_n \left(1 - \alpha\lambda\right) - \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|a_n\right|} \\ &\geq 0. \end{split}$$

Now, we show that  $f \in S_H(\phi, \psi; \alpha; \lambda)$ . Using the fact that  $Re\omega > \alpha$  if and only if  $|1 - \alpha + \omega| > |1 + \alpha - \omega|$ , it suffices to show that

(2.2) 
$$|A(z) + (1 - \alpha) B(z)| - |A(z) - (1 + \alpha) B(z)| \ge 0,$$

where  $A(z) = h(z) * \phi(z) - \overline{g(z) * \psi(z)}$  and

$$B(z) = \lambda \left( h(z) * \phi(z) - \overline{g(z) * \psi(z)} \right) + (1 - \lambda) \left( h(z) + \overline{g(z)} \right).$$

Substituting for A(z) and B(z) in L. H. S. of (2.2) and making use of (2.1) we obtain

$$\begin{aligned} |A(z) + (1 - \alpha)B(z)| &- |A(z) - (1 + \alpha)B(z)| \\ &= |h(z) * \phi(z) - \overline{g(z) * \psi(z)} + (1 - \alpha)\{\lambda(h(z) * \phi(z) - \overline{g(z) * \psi(z)}) \\ &+ (1 - \lambda)(h(z) + \overline{g(z)})\}| - |h(z) * \phi(z) - \overline{g(z) * \psi(z)} - (1 + \alpha)\{\lambda(h(z) * \phi(z) - \overline{g(z) * \psi(z)}) + (1 - \lambda)(h(z) + \overline{g(z)})\}| \end{aligned}$$

$$\begin{split} &= |(2-\alpha)z + \sum_{n=2}^{\infty} [\lambda_n + (1-\alpha)\lambda\lambda_n + (1-\alpha)(1-\lambda)]a_n z^n \\ &- \sum_{n=1}^{\infty} \overline{(\mu_n + (1-\alpha)\lambda\mu_n - (1-\alpha)(1-\lambda))b_n z^n}| \\ &- |-\alpha z + \sum_{n=2}^{\infty} [\lambda_n - (1+\alpha)\lambda\lambda_n - (1+\alpha)(1-\lambda)]a_n z^n \\ &- \sum_{n=1}^{\infty} \overline{(\mu_n - (1+\alpha)\lambda\mu_n + (1+\alpha)(1-\lambda))b_n z^n}| \\ &\geq (2-\alpha)|z| - \sum_{n=2}^{\infty} (\lambda_n + (1-\alpha)\lambda\lambda_n + (1-\alpha)(1-\lambda))|a_n||z|^n \\ &- \sum_{n=1}^{\infty} (\mu_n + (1-\alpha)\lambda\mu_n - (1-\alpha)(1-\lambda))|b_n||z|^n \\ &- \alpha|z| - \sum_{n=2}^{\infty} (\lambda_n - (1+\alpha)\lambda\lambda_n - (1+\alpha)(1-\lambda))|a_n||z|^n \\ &- \sum_{n=1}^{\infty} (\mu_n - (1+\alpha)\lambda\mu_n + (1+\alpha)(1-\lambda))|b_n||z|^n \\ &= 2(1-\alpha)|z| \bigg\{ 1 - \sum_{n=2}^{\infty} \frac{\lambda_n(1-\alpha\lambda) - \alpha(1-\lambda)}{1-\alpha} |a_n||z|^{n-1} \\ &- \sum_{n=1}^{\infty} \frac{\mu_n(1-\alpha\lambda) + \alpha(1-\lambda)}{1-\alpha} |b_n||z|^{n-1} \bigg\} \\ &\geq 2(1-\alpha)|z| \bigg\{ 1 - \sum_{n=2}^{\infty} \frac{\lambda_n(1-\alpha\lambda) - \alpha(1-\lambda)}{1-\alpha} |a_n| \\ &- \sum_{n=1}^{\infty} \frac{\mu_n(1-\alpha\lambda) + \alpha(1-\lambda)}{1-\alpha} |b_n| \bigg\} \\ &\geq 0. \end{split}$$

The Coefficient bound (2.1) is sharp for the function (2.3)

$$f(z) = z + \sum_{n=2}^{\infty} \frac{1-\alpha}{\lambda_n \left(1-\alpha\lambda\right) - \alpha \left(1-\lambda\right)} x_n z^n + \sum_{n=1}^{\infty} \frac{1-\alpha}{\mu_n \left(1-\alpha\lambda\right) + \alpha \left(1-\lambda\right)} \overline{y_n z^n},$$
  
where 
$$\sum_{n=2}^{\infty} |x_n| + \sum_{n=1}^{\infty} |y_n| = 1.$$

If we put  $\lambda = 0$  the class  $S_H(\phi, \psi; \alpha; \lambda)$  reduces to the class  $S_H(\phi, \psi; \alpha)$  studied

by Frasin [3]. Thus, from Theorem 2.1, we have

**Corollary 2.2.** Let the function  $f = h + \overline{g}$  to be so that h and g are given by (1.1). Furthermore, let

(2.4) 
$$\sum_{n=2}^{\infty} \frac{\lambda_n - \alpha}{1 - \alpha} |a_n| + \sum_{n=1}^{\infty} \frac{\mu_n + \alpha}{1 - \alpha} |b_n| \le 1$$

where  $0 \leq \alpha < 1$ ,  $n(1-\alpha) \leq \lambda_n - \alpha$  and  $n(1-\alpha) \leq \mu_n + \alpha$  for  $n \geq 2$  then f is sense-preserving, harmonic univalent in U and  $f \in S_H(\phi, \psi; \alpha)$ .

**Remark 1.** Frasin has shown that if condition (2.4) and  $n(1-\alpha) \leq \lambda_n - \alpha \leq \mu_n + \alpha$  are satisfied then f is sense-preserving harmonic univalent and  $f \in S_H(\phi, \psi; \alpha)$ , whereas we have shown that if condition (2.4) in conjunction with  $n(1-\alpha) \leq \lambda_n - \alpha$  and  $n(1-\alpha) \leq \mu_n + \alpha$  are satisfied. Thus our result is the improvement of Theorem 2.1 of [3].

In the following theorem, it is proved that the condition (2.1) is also necessary for functions  $f = h + \overline{g}$ , where h and g are of the form (1.3).

**Theorem 2.3.** Let the functions  $f = h + \overline{g}$  be so that h and g are given by (1.3). Then  $f \in TS_H(\phi, \psi; \alpha; \lambda)$  if and only if

(2.5) 
$$\sum_{n=2}^{\infty} \frac{\lambda_n \left(1 - \alpha \lambda\right) - \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|a_n\right| + \sum_{n=1}^{\infty} \frac{\mu_n \left(1 - \alpha \lambda\right) + \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|b_n\right| \le 1,$$

where  $0 \le \alpha < 1$ ,  $0 \le \lambda < 1$ ,  $n(1-\alpha) \le \lambda_n (1-\alpha\lambda) - \alpha (1-\lambda)$  and  $n(1-\alpha) \le \mu_n (1-\alpha\lambda) + \alpha (1-\lambda)$  for  $n \ge 2$ .

*Proof.* The if part, follows from Theorem 2.1. To prove the only if part, let  $f \in TS_H(\phi, \psi; \alpha; \lambda)$  then from (1.4), we have

$$\operatorname{Re}\left\{\frac{h(z)*\phi(z)-\overline{g(z)*\psi(z)}}{\lambda\left(h\left(z\right)*\phi\left(z\right)-\overline{g\left(z\right)*\psi\left(z\right)}\right)+(1-\lambda)\left(h\left(z\right)+\overline{g\left(z\right)}\right)}-\alpha\right\}\geq0$$

is equivalent to

$$\operatorname{Re}\left\{\frac{(1-\alpha)z - \sum_{n=2}^{\infty} [\lambda_n (1-\alpha\lambda) - \alpha (1-\lambda)] |a_n| z^n}{-\sum_{n=1}^{\infty} [\mu_n (1-\alpha\lambda) + \alpha (1-\lambda)] |b_n| \bar{z}^n} \\ \frac{z - \sum_{n=2}^{\infty} [\lambda\lambda_n + 1 - \lambda] |a_n| z^n}{+\sum_{n=1}^{\infty} [\lambda\mu_n - 1 + \lambda] |b_n| \bar{z}^n}\right\} \ge 0.$$

If we choose z to be real and  $z \to 1^-$ , we get

$$\{(1-\alpha) - \sum_{n=2}^{\infty} \left(\lambda_n \left(1-\alpha\lambda\right) - \alpha \left(1-\lambda\right)\right) |a_n| - \sum_{n=1}^{\infty} \left(\mu_n \left(1-\alpha\lambda\right) + \alpha \left(1-\lambda\right)\right) |b_n|\}$$
$$\times \{1 - \sum_{n=2}^{\infty} \left(\lambda\lambda_n + 1-\lambda\right) |a_n| + \sum_{n=1}^{\infty} \left(\lambda\mu_n - 1+\lambda\right) |b_n|\}^{-1} \ge 0.$$

or equivalently

$$\sum_{n=2}^{\infty} \frac{\lambda_n \left(1 - \alpha \lambda\right) - \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|a_n\right| + \sum_{n=1}^{\infty} \frac{\mu_n \left(1 - \alpha \lambda\right) + \alpha \left(1 - \lambda\right)}{1 - \alpha} \left|b_n\right| \le 1$$

which is the required condition.

Taking different choices of  $\phi(z)$ ,  $\psi(z)$  and  $\lambda$  in Theorem 2.3 we obtain the following corollaries obtained by Frasin [3].

**Corollary 2.4.** Let the functions  $f = h + \overline{g}$  be so that h and g are given by (1.3). Then  $f \in TS_H(\phi, \psi; \alpha; 0)$  if and only if

$$\sum_{n=2}^{\infty} \frac{\lambda_n - \alpha}{1 - \alpha} |a_n| + \sum_{n=1}^{\infty} \frac{\mu_n + \alpha}{1 - \alpha} |b_n| \le 1.$$

where  $0 \le \alpha < 1, n(1-\alpha) \le \lambda_n - \alpha$  and  $n(1-\alpha) \le \mu_n + \alpha$  for  $n \ge 2$ .

**Remark 2.** We note that  $TS_H(\phi, \psi; \alpha; 0) \equiv TS_H(\phi, \psi; \alpha)$ , the class defined by Frasin [3]. We easily seen that the above corollary improves the Theorem 2.2 of [3] because our result holds for the condition  $n(1-\alpha) \leq \lambda_n - \alpha$  and  $n(1-\alpha) \leq \mu_n + \alpha$  for  $n \geq 2$  whereas Frasin's result holds only for  $n(1-\alpha) \leq \lambda_n - \alpha \leq \mu_n + \alpha$ ,  $(n \geq 2)$ .

**Corollary 2.5.** Let the function  $f = h + \overline{g}$  be so that h and g are given by (1.3). Then

$$f \in TS_H\left(\frac{z}{\left(1-z\right)^2}, \frac{z}{\left(1-z\right)^2}; \alpha; 0\right)$$

if and only if

$$\sum_{n=2}^{\infty} \frac{n-\alpha}{1-\alpha} |a_n| + \sum_{n=1}^{\infty} \frac{n+\alpha}{1-\alpha} |b_n| \le 1,$$

where  $0 \leq \alpha < 1$ .

The above result is obtained by Jahangiri [4].

**Corollary 2.6.** Let the function  $f = h + \overline{g}$  be so that h and g are given by (1.3). Then

$$f \in TS_H\left(\frac{z+z^2}{(1-z)^3}, \frac{z}{(1-z)^2}; \alpha; 0\right)$$

757

if and only if

$$\sum_{n=2}^{\infty} \frac{n^2 - \alpha}{1 - \alpha} |a_n| + \sum_{n=1}^{\infty} \frac{n + \alpha}{1 - \alpha} |b_n| \le 1,$$

where  $0 \leq \alpha < 1$ .

The following theorem gives the bounds for functions in  $TS_H(\phi, \psi; \alpha; \lambda)$ , which yields a covering result for this family.

**Theorem 2.7.** Let  $f \in TS_H(\phi, \psi; \alpha; \lambda)$  and

$$A \le \lambda_n \left(1 - \alpha \lambda\right) - \alpha \left(1 - \lambda\right), A \le \mu_n \left(1 - \alpha \lambda\right) + \alpha \left(1 - \lambda\right)$$

for  $n \ge 2$ . Then for |z| = r < 1 we have

$$|f(z)| \le (1+|b_1|) r + \left(\frac{1-\alpha}{A} - \frac{\mu_1 (1-\alpha\lambda) + \alpha (1-\lambda)}{A} |b_1|\right) r^2, |z| = r < 1$$

and

$$|f(z)| \ge (1 - |b_1|) r - \left(\frac{1 - \alpha}{A} - \frac{\mu_1 (1 - \alpha \lambda) + \alpha (1 - \lambda)}{A} |b_1|\right) r^2, |z| = r < 1,$$

where  $A = \min \{\lambda_2 (1 - \alpha \lambda) - \alpha (1 - \lambda), \mu_2 (1 - \alpha \lambda) + \alpha (1 - \lambda)\}.$ 

*Proof.* We only prove the right hand inequality. The proof for the left hand inequality is similar and will be omitted. Let  $f \in TS_H(\phi, \psi; \alpha; \lambda)$ . Taking the absolute value of f we have

$$\begin{split} |f(z)| &\leq (1+|b_1|)r + \sum_{n=2}^{\infty} (|a_n|+|b_n|)r^n \\ &\leq (1+|b_1|)r + \sum_{n=2}^{\infty} (|a_n|+|b_n|)r^2 \\ &= (1+|b_1|)r + \frac{1-\alpha}{A} \sum_{n=2}^{\infty} \left(\frac{A}{1-\alpha}|a_n| + \frac{A}{1-\alpha}|b_n|\right)r^2 \\ &\leq (1+|b_1|)r + \frac{(1-\alpha)}{A} \sum_{n=2}^{\infty} \left(\frac{\lambda_n(1-\alpha\lambda)-\alpha(1-\lambda)}{1-\alpha}|a_n| + \frac{\mu_n(1-\alpha\lambda)+\alpha(1-\lambda)}{1-\alpha}|b_n|\right)r^2 \\ &\leq (1+|b_1|)r + \frac{1-\alpha}{A} \left(1 - \frac{\mu_1(1-\alpha\lambda)+\alpha(1-\lambda)}{1-\alpha}|b_1|\right)r^2. \\ &= (1+|b_1|)r + \left(\frac{1-\alpha}{A} - \frac{\mu_1(1-\alpha\lambda)+\alpha(1-\lambda)}{A}|b_1|\right)r^2, |z| = r < 1 \end{split}$$

This completes the proof of Theorem 2.7.

The following covering result follows from the left hand inequality in Theorem 2.7.

**Corollary 2.8.** Let  $f \in TS_H(\phi, \psi; \alpha; \lambda)$  and  $A \leq \lambda_n (1 - \alpha \lambda) - \alpha (1 - \lambda)$ ,  $A \leq \mu_n (1 - \alpha \lambda) + \alpha (1 - \lambda)$  for  $n \geq 2$  where

$$A = \min \left\{ \lambda_2 \left( 1 - \alpha \lambda \right) - \alpha \left( 1 - \lambda \right), \mu_2 \left( 1 - \alpha \lambda \right) + \alpha \left( 1 - \lambda \right) \right\}.$$

Then we have

$$\left\{\omega: \left|\omega\right| < \left(\frac{A-1+\alpha}{A} - \frac{A-\mu_1\left(1-\alpha\lambda\right) - \alpha\left(1-\lambda\right)}{A}\left|b_1\right|\right)\right\} \subset f\left(U\right).$$

**Remark 3.** If we put  $\phi(z) = \frac{z}{(1-z)^2}$ ,  $\psi(z) = \frac{z}{(1-z)^2}$ ;  $\lambda = 0$  in Corollary 2.8 we have the result of Jahangiri [4] and if  $\phi(z) = \frac{z}{(1-z)^2}$ ,  $\psi(z) = \frac{z}{(1-z)^2}$  we have the result of Öztürk et al. [5].

### 3. Extreme points

In this section, we determine the extreme points of  $TS_H(\phi, \psi; \alpha; \lambda)$ .

Theorem 3.1. Let

$$h_1(z) = z, \ h_n(z) = z - \frac{1 - \alpha}{\lambda_n (1 - \alpha \lambda) - \alpha (1 - \lambda)} z^n \ (n \ge 2)$$

and

$$g_n(z) = z + \frac{1 - \alpha}{\mu_n (1 - \alpha \lambda) + \alpha (1 - \lambda)} \bar{z}^n \quad (n \ge 1).$$

Then  $f \in TS_H(\phi, \psi; \alpha; \lambda)$  if and only if it can be expressed as

(3.1) 
$$f(z) = \sum_{n=1}^{\infty} (x_n h_n(z) + y_n g_n(z))$$

where  $x_n \ge 0$  and  $y_n \ge 0$ ,  $\sum_{n=1}^{\infty} (x_n + y_n) = 1$ . In particular the extreme points of  $TS_H(\phi, \psi; \alpha; \lambda)$  are  $\{h_n\}$  and  $\{g_n\}$ .

*Proof.* The proof of Theorem 3.1 is similar to those of Theorem 4.1 of Frasin [3], therefore we omit details involved.  $\Box$ 

759

#### 4. Convolution and convex Combination

In this section we show that the class  $TS_H(\phi, \psi; \alpha; \lambda)$  is closed under convolution and convex combinations.

We need the following definition of convolution of two harmonic functions.

Let the function f(z) be defined by

$$f(z) = z - \sum_{n=2}^{\infty} |a_n| \, z^n + \sum_{n=1}^{\infty} |b_n| \, \bar{z}^n$$

and the function F(z) be defined by

$$F(z) = z - \sum_{n=2}^{\infty} |A_n| \, z^n + \sum_{n=1}^{\infty} |B_n| \, \bar{z}^n$$

we define the convolution of two harmonic functions f and F as

$$(f * F)(z) = f(z) * F(z) = z - \sum_{n=2}^{\infty} |a_n A_n| z^n + \sum_{n=1}^{\infty} |b_n B_n| \bar{z}^n.$$

**Theorem 4.1.** If  $f \in TS_H(\phi, \psi; \alpha; \lambda)$  and  $F \in TS_H(\phi, \psi; \alpha; \lambda)$  then

$$f * F \in TS_H(\phi, \psi; \alpha; \lambda)$$
.

**Theorem 4.2.** The class  $TS_H(\phi, \psi; \alpha; \lambda)$  is closed under convex combinations. *Proof.* The proofs of the above Theorems are analogues to the corresponding similar Theorems proved in [3] and therefore we omit details involved.

Acknowledgment. The authors are thankful for the referee for his valuable comments and suggestions. The present investigation was supported by the University grant commission under grant No. F. 11-12/2006(SA-I).

# References

- Y. Avci and E. Zlotkiewicz, On harmonic univalent mappings, Ann. Univ. Mariae Curie-Sklodowska Sect.A, 44(1990), 1-7.
- [2] J. Clunie and T. Sheil-Small, *Harmonic univalent functions*, Ann. Acad. Sci. Fenn. Ser.AI Math., 9(1984), 3-25.
- [3] B. A. Frasin, Comprehensive family of harmonic univalent functions, SUT Journal of Mathematics, 42(1)(2006), 145-155.
- [4] J. M. Jahangiri, Harmonic functions starlike in the unit disc, J. Math. Anal. Appl., 235(1999), 470-477.

- [5] M. Öztürk, S. Yalcin and M. Yamankaradeniz, Convex subclass of harmonic starlike functions, Appl. Math. Comput., 154(2004), 449-459.
- [6] H. Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51(1975), 109-116.
- [7] H. Silverman, Harmonic univalent function with negative coefficients, J. Math. Anal. Appl., 220(1998), 283-289.
- [8] H. Silverman, E. M. Silvia, Subclasses of Harmonic univalent functions, New Zealand. J. Math., 28(1999), 275-284.